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General Instructions:

> The question paper has 30 questions in all. All questions are compulsory.

» Questions from serial number 1 — 9 are Multiple Choice Questions. Each
question carries one mark.

» Questions from serial number 10 — 21 are 3 mark questions. Answer of these
questions should not exceed 80 words each.

» Questions from serial number 22 — 29 are 5Smark questions. Answer of these
questions should not exceed 100 words each.

» Question number 30 is a map question of 2 marks from History and 3 marks
from Geography. After completion, attach the map inside your answer book.



1. Which one of the following state was ruled by an Italian princely house before
Unification of Italy? (1)

(@) Kingdom of two Sicilies
(b) Lombardy

(c) Venetia

(d) Sardinia Piedmont

Scoll & THIHIUT ¥ Tgol Aeafaf@d U=l & ¥ fFd U= R sdradr
TSTERT T oATHT UT?

(a) gt dfAfea &1 veraw
(b) STt
(C) deredT

(d) IRATAAT NsAT-e
OR
Why was Tonkin Free School started in 1907 in Vietnam?
(a) To provide modern education
(b) To provide western style of education
(c) To provide education to Vietnamese only
(d) None of the above

AT BT Ter 1907 3 AT GelT 1T UT?
(a) mefee RI&T &t Hferd
(b) gfda# it -adies & favem ga Sfaw
(c) faaaare & e &y fRram & Ffoy
(d) 578 @ Fo sit 73t



2. The session of congress in which the resolution of Poorna Swaraj was
adopted- (1)

(a) Karachi session
(b) Lahore session
(c) Lucknow session
(d) Calcutta session

I o foher 3TIARNT H qUT-FaToT &l wART Fdleh feohar?
(@) AT

3.Why did the nationalists in India tour villages to gather folk songs and
legends? (1)

(a) Nationalists wanted to study their own culture

(b) Nationalists wanted to publish it and earn money

(c) Nationalists did it to give a true picture of traditional culture
(d) Nationalists wanted to keep folk culture intact

HRT H Tearel olieh Il 3R STeT AEfY &0l Sehgl it hiclT aNla-ane
e
(a)ITSEaATE! YT FEP T T A el U6 A
(b)Irsearfeat &Y Seg YhITAT leh el AT ATE o
(C)TTSgaTfeAT & RFERTIT HERT fob TET TEAR I AT A8
(d)TTSaTEY Fiteh HER Y hl FITET Tehell TTEd A

)
)




4. Which of the following has been the major source of foreign exchange for IT
industry?

1)

(a) BHEL
(b) SAIL
(c) BPO
(d) OIL

AT FIENTNDT 3T Hfw facei Her gred v &t ffai@a 5 4
ITHT FHW T T6T 82
(@) &Y gelfFgehed fAfAcs
(b)EETeT ITUTREY 3T 3T feifies
(C)cTTHIT FiehdT STEEA TIehoT
(d)3itTer gfzar fafaces
5. Which mode of transportation reduces transshipment losses and delays?
(1)

(a) Railways
(b) Waterways
(c) Roadways
(d) Pipelines

URaE T Pl T fGUT Teoler FJehdret 3N Gl & A AT §7?

(a) Yerd

(b) STerATaIT

(ORIELE]

(d) TrgTerssT

6. Hallmark is the certificate maintained for standardisation of-
(1)

(a) Jewellery
(b) Electrical goods
(c) Edible oll




(d) Vehicles

BlotATeh AFITl e 7 & TeheErehl I[UTadl SRy It dTell FHTOT 974 87
(a)3TTayoT

(b) TorsTel & @A

(c)@me el

(b)argst

7.Which one of the following was the main aim to form World Trade
Organisation?
(1)
(a) To promote bilateral trade
(b) To liberalise international trade
(c) To promote trade of rich countries
(d) To promote the trade of poor countries
{2 ATIR GITS T HET 32T FATE?
(a)cfauaiyr SATIR & Ferar & & Tl
(b) & TRITSERT SITIR I 3G el o folT
(31) 3THR ¢2AT & SATIR T F&1dT ol o T T
(87) IS SRIT & SITIR T FG1dT Gl oh ToIT

8.The struggle in Bolivia in 2000 was (1)

(a) To establish democracy

(b) Due to increase in price of water
(c) To have a re-election

(d) Due to racial discrimination

2000 # srenfaar & gy o7 (1)
CORIEGERIIECETGEREIY

(W) o HROT Ui T HIFAdT 7 gig o foIw

(31) U T A o1 HXare & fow

(9) & HRUT AENT AGHIT & TolT



9.Under whose leadership was the Bahujan Samaj Party formed? (1)

(a) Mayawati

(b) Kanshi Ram
(c) Bal Thackarey
(d) Jagjiwan Ram

[ELEIGGR: ﬁqud HHTST ITET T ITSeT TohdT 31T AT? (1)
() ATITAAT

(@) R

(3T) STeT BTHT

(8) STaTSiaet A

10. Describe the process of unification of Italy.

SCell o TehIoT foh [affiesT 3raearar &1 gutd |
3) OR
Explain the role of women as warriors in Vietnam during the 1960’s.

19603 2T & ST TAITATH H ATRATHT & AT o g hifad |

11.Why was the decade of 1830°s known as Great Economic Hardship in

12.

13.

Europe? (3)

Y H & G20 ol AT 1Tk HISATSAT &b T F FIT ST ST AT?

BIS e HRUT TISE IS |

OR
Explain three features of Scholar’s revolt of 1868 in Vietnam.

1868 & faTd=TeT & facarer 1 fagig o IR # forgr|
What are the reasons for the slowdown of Non Co-operation movement in
cities? (3) 2N H A INIT 3TTGToleT o HG BloT o PRI TASE HIToI |
Explain any three steps taken to conserve energy resources.

®3)
Foll TATHEAT oh TIETUT ShielT 3T ITT foheg! cllel 3T I TIST It |

14. Mention any three objectives of the National Jute Policy 2005.

(3)
TSET e AT 2005 o fehegl ciiet 382N el cerdT PTG |



15.

16.

17.

18.

19.

20.

21,

Explain any three problems faced by road transport system in India.
3)
HRT & T3 YRTg YUTTelT ToheT cfieT THTITIIT T JTHAT F IET 872

How do you feel that democracy is better than any other form of
government? (3)

ANeh T 3T TohR ! TIHRT T dgc & |' TIST hIToTd |
What is a political party? What are the three components of a political party?

3)
ST Tceh Gl 3T 82 TSTailicleh Gl & Yo dlel [6Ed il et A g2

Explain with examples how some countries face foundational challenge of
democracy. (3)

3¢gRUT Afgd TIvC HITSY o F 2T vl T AT JiAFCT MR T
ATl T HTHAT fohdl FehR T T © 2

‘Integration of production and integration of markets are the key ideas
behind understanding the process of globalisation and its impact’.

3)
(i) What is meant by integration of production and integration of markets?
(if) What values do you learn from the above paragraph?

'3cqTCaT T TehTehi 0T 31 STSTRT ST TehIahoT, ARATEH0T 3R 3T JHTT foh
SITShaT T FHSTS o UIeS ol ALY AR g

(i)3caTEeT ST ThIUT 3R STSTRT T TehIehUT hl TISE hiford |

(il 3TN 3TeTeDe FAT Hod THSATT 82

Explain any three rights of consumers.
3)
3YHTFATAT o fohegl dlet HTARRY T 1T FITTT |

Study the following diagram and answer the questions given below- (3)



Graph 1 : Sources of Credit
for Rural Households in India in 2003

Landlords [t

I. Which are the two major sources of credit ?
G & & FATT T FIT-FT 82

ii. Which one of them is the most dominant source of credit for rural
households?

1i. Why is it the most dominant source of credit?
g HEI T glel I FAT HROT g2

22. How did culture play an important role in creating the idea of the nation in
Europe? Explain with four examples. (5)

T # rogale o faehrd H HEP I o fhd TR HAgeaquT {{HenT e

R 3YUTELVT Aigd TS oy

OR
Explain any four points about the importance of Ho Chi-Minh trail to
Vietnam?

gl N-fAwg afereferar AR T faf@w|

23. Discuss any four features of the Civil Disobedience Movement of 19307 (5)



24,

25,

26.

217,

28.

29.

AT 37T JHTETeTsT & HEcd T Hediehdl ity |

‘Minerals are indispensable part of our lives.” Support the statement with
suitable examples. (5)

GielsT AN Siael &l Teh JHTa GEAT 1 3Ugerc 3TV & AT 5H
AT &7 GAYA HIfo |

Cotton textile industry has a large concentration in and around Maharashtra
and Gujarat. Give three reasons to support the statement. Mention any two
problems faced by cotton textile industry. (5)

Gl T 3T fAhc HERTSE Ud I[oRTl A higd & | FT? Ig ST

ToheT-ToheT THATATIN T TTHAT HY TET &2

‘Legal constitutional changes by themselves cannot overcome challenges to
democracy.’” Explain with examples.

(5)
fafere afaenfaies seedl 1 o ¢ 8RR & Sehcld fob Al fadT Y gl w1gl
fohaT ST TR dT 81 3E8RUT & ATY HHSSY |

‘No party system is ideal for all counties and in all situations.” Justify the
statement.(5)

gafr o 3 gef aRFEUfaAT & FI oY ol caaTam 3e T 8T &1 39
U I TISE I |

In what way does the Reserve bank of India supervise the functioning of
banks? Why is it necessary?

(5) Tohel AT & GaRT HRAT RAd Sk sl &
FTHBTA T THAIRT HIAT &2 T FAT ST 872

Consumer redressal process is becoming cumbersome nowadays. Give
reasons. (5)

3UATFT TAaROT IfehaT 3TST el SATe BIAT oI 18T & | SHeh dROT
IGIECIY|

30. 1 Two features A and B are marked in the given political outline map of

India. Identify these features with the help of the following information and
write their names on the lines marked in the map.



(i) The place where Indian National Congress session was held in 1920.
(2)
(i1) The place where the movement of Indigo Planters took place.
OR
Locate and label the following features with appropriate symbols.
(i) Kheda: The place of peasant Satyagraha.
(i1) Chauri-Chaura: The center of calling off the Non Co-operation
movement.

30.2 Three features A, B and C are marked in the given outline map of India.
Identify these  features with the help of the following informations and
write their names on the lines marked in the map.

3)
A: Iron ore field
B: Silk textile centre
C: The terminal station of East-West corridor
OR
Locate and label the following items on the map with appropriate symbols.
A: Kaiga-Nuclear power plant
B: Kandla- Major Seaport
C: Bhadravati- Iron and Steel plant

30.1 U IT HRT & Tslaiaeh AT W U &Y T 3iferd fFy arw gl
fArATATET STARRY & ETIAT A ST TUTAT bl T 3R AT I
3eTehT Ty A1 faf@T|

(i) agzmaﬁ’ﬁmwma‘%maﬁ?rgml
(i) T8 TUT STEr ImENS ¥ =frer 3cUTgeT ael aTel fohdTell shfolU TS
I 3AISTeT TR

3ar

AT@a T & ATART 9T 3ifehd e 3T ATH QT
(i)eT- STeT FoRaTatt o Heamars ok Qear g3 |



(i) R-TRT: a8 TATH FGT 3TN 3MTecleled ! aray felar arar 2|

30.2 1T 8707 & HRA & U 310 AT W 3fha fhar 3w g 3
JIUN &I ggaTav 3R T@Er a7 @

(Yol 3T&h 89
(i XA 3cUTeh &aF
(ili)qd afR=#A Tl &1 effAder ¥eue

3gar

ATI@a T & ATART 9T 3ifehd i 30T ATH QT

A:WW
B.9HE CIRE]IFS
C:agT 3R sTura I
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